Tz 30,001 terlis A1 Fol
Az g AL

1
y=3x,y=§x,y —4x
4 1 1
y= x»)’*4x,y— 4x
y=X, y=-X, y=-3x

1
@y:3x,y:7x7y:x

1 4
@y=§x,y=—4x,y=—x

1
@y:§X,y:4x7y=x

1
@yzgx»y=4x,y=—x
® y=-3x,y=-4x,y=x

~&B

Q, ©, ©2 AHld Tz o|r}.

Dy=ax23 (3,1) = AUER 1 = 3q, az%olﬂ,y:%x
ojr}.
Oy=bxt3 (1,4 EAYER 4 =p 0|1, y = 4x O[T},
®y=cxtv 3 (-1

y=-x °|t.




A7 0 2 Atk AEE BA y = x o] A= 92 A P2, 2)
oA x Zo Wl 449] 2ol Q(2, 0) oIt} o] W, A0PQ ©] Hol2
e

> E

A 7 P(2,2),Q(2,0),0(0,0) & BAH O 2 3= A0PQ O] Y

1
0]—t—§><2><2:2




i

\VARR 4
0
AL
|
©

y=ax

2,3)

Ry

~&B

y=ax ol o A (2,3) & st

3=2aa= g o]tk

3 o o
y=gxllx=-4,y=bEHd5td
b=—-6

kA ab = = x (=6) = -9 ot}

l\DIo::




A2 (m)
yl\

2 uehie chgt
9l Gt FAY A4l 5

=

B 549 Fel7) A&l 7]
EE]

800F -~~~

o

712 4

2 Holrke A4 A%
o g} 5Ao] H Aele] 2

ol

)

oy

g
__OT o
T} W
= o
X T
! T

2l

ol

800

X 12 = 800 (m)

4

X 12 —

800

3




e aYe ol AN @ S B
R 12 4012 DA o 2

olct. @A) o] 4Ee] 7ol 907t AL
2 20 5711
shof stz Fotolet.

n
d
=)
e

o2 744 of) dhelE et
VAL o Y, TjEFS y it 5hd

y=§°ﬂx:90, y =20 diYdstHA 20:%, a = 1800
1
=, 800(x>0)
X
TriEe 20% S7HA 712 20 x 1.2 = 24 (TH)
1800 )
y=— o y=24 & HY4stH
24:@ x=175




